Inviscid Burger's equation

A nonlinear equation

Consider the so-called inviscid Burger’s equation
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If u(x, t) is a C* solution then any level set of u on which u, # 0 is a straight line.
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Suppose a level set is a graph x = f (t), i.e. suppose that for some function x = f(¢t) one has u(f(t),t) = c forall t. Then._. .

Tz xe) Sm«(’?f)ou x=xkE) 1§ a MM
e/,? e SD“QM’RN«A(XL#\J g

Wy (£),t 1= ul(xwy, )= < = Ug

Lo~ Ter

‘_’A_ (\A(ICJC))Jc)B = O \QQCO(VLCL WXy, t)=c @vr mjﬂ«%
At

= |

/ S Sl
Mx(x(%)ji/s- x ()~ MJ\,(VC{’)_,%> - = O

LA'k'{-V\(Ax:O

m PDE /EL"’ W iVV\Y)]IVj V\jc: —U U X 5 S o
x'(L) — wn ue =0

A§$\Am/\,¢_ Mﬂ%Ou —\/L\,@V\/ Jl\/%c{& \0\/)/ A (X({f);é>
— C
() = o) =

= x'(L)= ¢

C :,Q/\AS\(N) Yl /asbwoq—gu‘é mOe ) =
o g%\mﬁ\\% e x({/}_ x<(s) + <t — %o

d(







